
 

 

Question 1 

The load to be moved is a pallet of stacked cartons: 
 

• Five cartons to a layer. 

• Six layers on a pallet. 

• Each carton is 22 kg. 

• The pallet weighs 50 kg. 
 

What is the combined weight of the cartons and pallet? 

Show all calculations. 



 

 

Question 2 

The load to be moved is a pallet of stacked drums: 
 

• Four drums on the pallet. 

• Each drum weighs 315 kg. 

• The pallet weighs 35 kg. 
 

What is the combined weight of the drums and pallet? 

Show all calculations. 

 

 

 

 

 

 

 

 

 

 

 

 

Question 3 

The load to be moved is bags of concrete stacked on a pallet: 

 
• 78 bags on the pallet. 

• Each bag weighs 30 kg. 

• The pallet weighs 50 kg. 
 

What is the combined weight of the bags and pallet? 

Show all calculations. 



 

 

Question 4 
 

The forklifts in the diagram in bellow are rated at 2500 kg at 600 mm load centre. Which 

load is within the capacity of the forklift? 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

Question 5 

What is the rated capacity the fork can lift with the mast tilted forward 3 degrees? 
 

 

 

 

 

 

Question 6 

What is the rated capacity the fork can lift with the mast in a vertical position? 
 

 

Question 7 

Can a load weighing 11234 kg, and with a load centre of 700 mm, be raised with the mast in the vertical position? 
 

 

Question 8 

Can a load weighing more than 10000 kg be raised with the mast in the vertical position? 
 

 

  



 

 

Question 9 

Your forklift has the following capacity/load plate: 

 

 

For each load below, complete the required calculations and/or reasoning to determine whether the load is 
safe to lift. You must show your calculations and indicate your answer with a yes or no to the question with a 
tick (P). 

 

 

 

  

Load Calculations/Reason Is this load safe to 
lift? 

Load 1 

A pallet 1265mm length by 
1265mm width with a height of 
1900 mm and a total weight of 
1800 kg. 

 
q Yes q No 

Load 2 

A container containing a 6500 kg 
load. Note: The tare weight on the 
container is 2300 kg. The 
container size is 2.4m wide, 2.5m 
high and 2.4m long. 

 
q Yes q No 



 

 

Question 10 

The load to be moved is a pallet of stacked cartons: 

 
• Six cartons to a layer. 

• Four layers on a pallet. 

• Each carton is 18 kg. 

• The pallet weighs 45 kg. 
 

What is the combined weight of the cartons and pallet? 

Show all calculations. 



 

 

Question 11 

The load to be moved is a pallet of stacked drums: 
 

• Three drums on the pallet. 

• Each drum weighs 215 kg. 

• The pallet weighs 35 kg. 
 

What is the combined weight of the drums and pallet? 

Show all calculations. 

 

 

 

 

 

 

 

 

 

 

 

 

Question 12 

The load to be moved is bags of concrete stacked on a pallet: 

 
• 62 bags on the pallet. 

• Each bag weighs 25 kg. 

• The pallet weighs 50 kg. 
 

What is the combined weight of the bags and pallet? 

Show all calculations. 



 

 

 

Question 13 

What is the rated capacity the fork can lift with the mast tilted forward 3 degrees? 
 

 

 

 

 

 

Question 14 

What is the rated capacity the fork can lift with the mast in a vertical position? 
 

 

Question 15 

Can a load weighing 1560 kg, and with a load centre of 800 mm, be raised with the mast in the vertical position? 
 

 

Question 16 

Can a load weighing more than 1550 kg be raised with the mast in the vertical position? 
 

 

  



 

 

Question 17 

Your forklift has the following capacity/load plate: 

 

 

For each load below, complete the required calculations and/or reasoning to determine whether the load is 
safe to lift. You must show your calculations and indicate your answer with a yes or no to the question with a 
tick (P). 

 

 

 

 
  

Load Calculations/Reason Is this load safe to 
lift? 

Load 1 

A pallet 1265mm length by 
1265mm width with a height of 
1650 mm and a total weight of 
1900 kg. 

 
q Yes q No 

Load 2 

A container containing a 6000 kg 
load. Note: The tare weight on the 
container is 2300 kg. The 
container size is 2.4m wide, 2.5m 
high and 2.4m long. 

 
q Yes q No 



 

 

Question 18 

The load to be moved is a pallet of stacked cartons: 

 
• Five cartons to a layer. 

• Four layers on a pallet. 

• Each carton is 28 kg. 

• The pallet weighs 60 kg. 
 

What is the combined weight of the cartons and pallet? 

Show all calculations. 



 

 

Question 19 

The load to be moved is a pallet of stacked drums: 
 

• Five drums on the pallet. 

• Each drum weighs 275 kg. 

• The pallet weighs 50 kg. 
 

What is the combined weight of the drums and pallet? 

Show all calculations. 

 

 

 

 

 

 

 

 

 

 

 

 

Question 20 

The load to be moved is bags of concrete stacked on a pallet: 

 
• 92 bags on the pallet. 

• Each bag weighs 15 kg. 

• The pallet weighs 35 kg. 
 

What is the combined weight of the bags and pallet? 

Show all calculations. 



 

 

Question 21 

What is the rated capacity the fork can lift with the mast tilted forward 3 degrees? 
 

 

 

 

 

 

Question 22 

What is the rated capacity the fork can lift with the mast in a vertical position? 
 

 

Question 23 

Can a load weighing 6130 kg, and with a load centre of 700 mm, be raised with the mast in the vertical position? 
 

 

Question 24 

Can a load weighing more than 6130 kg be raised with the mast in the vertical position? 
 

 

  



 

Question 25 

Your forklift has the following capacity/load plate: 

 

 

For each load below, complete the required calculations and/or reasoning to determine whether the load is safe to lift. 
You must show your calculations and indicate your answer with a yes or no to the question with a tick (P). 

 

 

 

 
 

Load Calculations/Reason Is this load safe to 
lift? 

Load 1 

A pallet 1090mm length by 
1650 mm width with a height 
of 1350 mm and a total weight 
of 3200 kg. 

 
q Yes q No 

Load 2 

A container containing a 4950 kg 
load. Note: The tare weight on the 
container is 2300 kg. The 
container size is 2.4m wide, 2.5m 
high and 2.4m long. 

 
q Yes q No 


